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Part: A

1: Convergence brings added value to the customer by reducing cabling and skills costs
A.True
B.False

Correct Answers: A

2: Which of the following modes of operation are supported by the NBX? (Choose three)
A.PBX Mode

B.Key Mode

C.Hybrid Mode

D.Simulated Mode

E.Traditional Mode

Correct Answers: AB C

3: The Network Call Processor (NCP) is responsible for setting up communication between
endpoints.

A.True

B.False

Correct Answers: A

4: Which of the following is true of the V3000 NCP? (Choose three)
A Supports up to 200 total devices

B.Supports up to 1500 total devices

C.Supports up to 12 Voice Mail Ports

D.Supports up to 72 Voice Mail Ports

E.Supports up to 8 Virtual Tie Lines

F.Supports up to 48 Virtual Tie Lines

Correct Answers: BD F

5: Which of the following statements best characterizes NBX Silence Suppression? (Choose three)
A.Enabling reduces network traffic

B.When enabled, a device that detects silence in conversation sends a small packet with a ilence
indicator, rather than a full packet of igitized silence

C.Receiving devices generate white noise for the time periods represented by silence indicator
packets

D.Can only be enabled or disabled for the entire system.

E.Can only be used with NBX 3102 phones.

Correct Answers: AB C

6: Layer 3 operation is required for environments with multiple LANs where the NBX and phones
may be on different Ethernet LANs, VLANS or across WANS.

A.True

B.False

Correct Answers: A





